72.00
72.00
®44.00 @ TOP 32.00 @ TOP
[30|0n}
360.00
[35|2u}
422.00
48.00 @ BASE 34.00 @ BASE
12.00 ® © * *
500 — 16.00
} GRADE
44.00
GENERAL NOTES:

1
2.
3.
4

CONCRETE BASE TO BE POURED WITH FOUNDATION

TOTEM POLE TO BE INSTALLED AFTER FACADE COMPLETION

ATTACH BACK COVER WITH STAINLESS STEEL SCREWS AND PAINT MATTE BLACK
SECURE TOTEM POLE WITH 3/4"X2" HEX BOLT

LIFT TOTEM ASSEMBLY
HERE WITH 2" DIA. SHACKLE

42X

NOTE: RIGHT AND LEFT TOTEM ASSEMBLIES ARE INDENTICAL

ITEM NO. DESCRIPTION Default/QTY.
1 CS Right Totem 1
2 CS Totem Concrete 1
3 CS Totem Steel 1
4 CS Totem Steel Base 1
5 CS Totem Back Cover 1
6 3/4" Hex Lag Screw 16" LG. 42
7 3/4" Flat Washer 42
8 3/4" Hex Bolt 2" LG. 1
9 CS Totem Rebar 1
10 CS Totem Receiver 1
11 3/4" Hex Lag Screw 10" LG. 7

UPON CARVING COMPLETION
AND INSTALLATION, TOP OF POLE
SHALL BE FLASHED WITH COPPER
COVER

TOTEM POLE
SHOWN PRIOR
TO CARVING

Quinault Engineering

114 WEST QUINAULT ST. TAHOLAH, WA 98587
ph (360) 276-8215  fax (360) 276-4191

DIM UNITS

WEIGHT: INCHES | «DIMENSION UNITS UNLESS OTHERWISE NOTED

ALL INFORMATION CONTAINED IN THIS DRAWING IS PROPRIETARY TO, AND SHALL BE USED

OR DISTRIBUTED ONLY WITH THE WRITTEN PERMISSION OF, QINAULT INDIAN NATION.
PRINTED COPIES OF THIS DOCUMENT ARE FOR REFERENCE ONLY.

32176.33 E’b’f&%”g 500, THIRD
—_ ANGLE
LBS. X. + 0.250 PROJECTION
X.X +0.125
X.Xx £ 0.062 BREAK ALL EDGES .005-.035
X.XXX + 0.015 x° + 2

UKt 1/8 MAX FILLET RADIUS 1/32

Carving Shed

USED ON DWG: -

TMODEL FLENANE WIQDEL REV. | DRW FITENAVE

RIGHT _TOTEM_ASSEMBLY RIGHT TOTEM_ASSEMBLY

Carving Shed Right Totem Assembly [rew

DRWN SIE [ SHEET

B [SHEET 1 OF 2

REVISION LET.CHECKIN #

|Engineer | 1:72
DRAWING NO.

RIGHT_TOTEM_ASSEMBLY »

TFG IGNORE CHECK N ¥

PRINTED: 8/22/2012 LAST SAVED BY: Administrator

CREATED:Wednesday, August 22, 2012 12:41:27 PM

DRAWING PATH: U:\QUINAULT\CARVING_SHED\SOLIDWORKS_CS\



(2) - #6 CONT. HORIZ. REBARS

CREATED:Wednesday, August 22, 2012 12:41:27 PM

RECEIVER POSITIONED WITHIN +/- .125" AND KEND TO 46" DIA
+/- 0.5 DEGREES ROTATION AND PLUMB RECEIVER TAB TO ) SEE TOTEM RECEIVER
THE SIDE FACING BUILDING DETAIL DRAWING
72.00
—— R26.00 ‘
(4) - #6 CONT. HORIZ. REBARSJ -/
72.00 i
(12) - #6 CONT. VERT. REBARS
BEND AS SHOWN
28.00 —=—
$52.00 ——= RECEIVER FLUSH
A WITH CONCRETE 10.00
14.00 |=—
il 75 X 45.0°
Joo | 5700 — [ 1.. - ..
16. ‘ .
| 47.00 o SR
i 44.00 ) = -
N O < T
41.00 . . , ,
A K oA 4 4 . A' g .
44.00 2833 —{ . 0 T S & FIRST POUR
A o g A..:. .xq o q
4 A B
1567 ——+4 a7 RN §
- a4 :
] ..4.,,'4'.<" e
300 — | ] R |
A< \BOTI'OM OPEN TO GRAVEL
SECTION A-A TO ALLOW FOR DRAINAGE
DIM_UNIT:
Quinault Engineering WEIGHT: Tlc'i%foEusp <DIMENSION UNITS UNLESS OTHERWISE NOTED
. 32176.33 COARSE 500, THIRD
CONCRETE NOTES- % :)LA(;\(/S%S]TZS;IB’\??USf;XT(A:a:(?)L;::n];\]?B587 LBS ix i 8?22 \/_ @E PROJEACNT\%LNE
1' CONCRETE MINIMUM COMP' STRENGTH 4000 PSI ALL INFORMATION CONTAINED IN THIS DRAWING IS PROPRIETARY TO, AND SHALL BE USED iiix f 88?% o + 2 BREAK ALL EDGES 005'035
2. ALLOW MIN. 14 DAY CURE TIME BEFORE INSTALLING POLE O O D01 7 e MAXFILLETRADIS 1/32
3. REBAR SHALL BE PLACED A MIN. OF 3" FROM CONCRETE EDGE OR FACE ; USED ON DWG: -
4, ALL REBAR SHALL BE GRADE 60 Carw'ng Shed _ :Rjzéﬁ?A%TEM ASSEMBLY | mT?IE}-ISLTSO%ET‘EM ASSEMBLY
5. BACKFILL WITH GRAVEL AND FINISH WITH RIVER ROCK Carving Shed Right Totem Assembly [ven___lengreer [ oo [sheeraors
RIGHT_TOTEM_ASSEMBLY n

PRINTED: 8/22/2012 LAST SAVED BY: Administrator

DRAWING PATH: U:\QUINAULT\CARVING_SHED\SOLIDWORKS_CS\



	OVERVIEW
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View20

	CONCRETE BASE
	Drawing View13
	Drawing View14
	Drawing View16
	Drawing View17
	Section View A-A
	Drawing View19


